62 Electric control box KRRCHER

Professional \ High pressure cleaner hotwater \ Electric motor \ HDS 558 C ECO *EU \ Spare parts list HDS 558 C Eco \ Electric control box \ Electric control box

Valid on 27.05.2021 Page1l/3



62 Electric control box
Professional \ High pressure cleaner hotwater \ Electric motor \ HDS 558 C ECO *EU \ Spare parts list HDS 558 C Eco \ Electric control box \ Electric control box

KARCHER

POS

© 00 N O U1 A W N

=
= O

W W W W N NNNNDNNDNRINNIRRRRBERRP R R
W N R O W O®WMNOUSM_MWNIEROOOWNOOUL M WN

Article no.
5.321-577.0
5.115-798.0
2.882-574.0
4.651-026.0
7.303-026.0
6.641-270.0
6.303-317.0
7.311-001.0
4.633-058.0
5.801-136.0
6.643-249.0
6.622-064.0
6.630-201.0
6.647-537.0
6.343-170.0
4.828-008.0
6.641-458.0
6.661-136.0
5.802-261.0
7.312-264.0
6.632-356.0
6.622-178.0
7.777-999.0
5.030-954.0
5.481-257.0
6.651-316.0
6.651-421.0
6.661-201.0
6.630-049.0
5.762-234.0
7.303-048.0
6.647-081.0
6.651-604.0

Valid on 27.05.2021

Description

Handle

Washer

Conversion kit thermostat

Pilot lamp only for replacement
Screw 4x16 -A2-70 (In6Rd)
Plug

Screw M4x10-St-A2G

Hexagon nut M4 -6-A2E ISO 4032
Pulse generator only for replacement
Mounting plate

Strip terminal

Control transformer

Motor protecting switch

Cable with rubber bushing
Retaining clip

Anti-interference filter complete
Cable tape nature 4,6x150mm
Capacitor 60MF

Mounting part

Washer 5-100HV-A3E ISO 7094
Contactor LC1-D18 B7

Ignition transformer 110V
Stockpiling discontinued
Clamping part

Lever

Lens housing red

Lens housing green

Capacitor 60 MUF

Cap

Bracket electric control box
Screw M6x20 -St-R3R (In6Rd)
Cable tape

Pilot lamp

Page 2 /3

Quantity

R NN R B R B N R R P R R R R R R R R R RRRKRRNNRPR WOWWR P2 2

Unit
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
ZST
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC
PC



62 Electric control box

Professional \ High pressure cleaner hotwater \ Electric motor \ HDS 558 C ECO *EU \ Spare parts list HDS 558 C Eco \ Electric control box \ Electric control box

POS Article no. Description Quantity Unit
34 4.686-018.0 Temperature limiter only for replacement 1 PC
35 7.306-056.0 Screw M4x8 -8.8-R2R (In6Rd) 2 PC

Valid on 27.05.2021 Page 3/3


http://www.tcpdf.org

